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Poisson Probability Density Function for Parameters:  lambda = 1
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Pareto Probability Density Function for Parameters:  xm = 1, alpha = 1
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Normal Probability Density Function for Parameters:  mu = 1, s_sq = 1
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Gamma Probability Density Function for Parameters:  shape = 1, rate = 1
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Beta Probability Density Function for Parameters:  alpha = 1, beta = 1
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InvGamma Probability Density Function for Parameters:  shape = 1, scale = 1
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Log Normal Probability Density Function for Parameters:  mu = 1, sigma = 1
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Normal Probability Density Function for Parameters:  mu = 5, s_sq = 3
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InvGamma Probability Density Function for Parameters:  shape = 3, scale = 2
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Normal Probability Density Function for Parameters:  mu = 5, s_sq = 3
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InvGamma Probability Density Function for Parameters:  shape = 3, scale = 2
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